



Zabbar, South





Total Rooms: 5

Bathrooms: 1

Reference No: 240271042-4

Floor Area (m²) : **134**

Bedrooms: 2

Townhouse - For Sale - Zabbar

ZABBAR - TOWNHOUSE - Located in a UCA area, on a very quiet street. The property consists of a spacious Living/dining room, Hallway, main Bathroom, 2 Bedrooms, and an internal Courtyard. Complementing this property is a large Roof and a Washroom. With some renovation, this property could become a lovely family home.

Features

- Kitchen/Dinette
- ✓ Water Utility
- 3 Phase Electricity
- Roof Terrace

Rooms

- Kitchen : 2.98 x 2.34 m (6.97 m2)
- Living/Dining : 3.7 x 2.7 m (9.99 m2)
- Double Bedroom : 5.55 x 2.98 m (16.54 m2)
- Double Bedroom : 4.17 x 3.16 m (13.18 m2)
- Hallway : 2.7 x 1.86 m (5.02 m2)
- Bathroom : 2.95 x 1.3 m (3.84 m2)
- Open Space : 1.45 x 3 m (4.35 m2)

- Ceramic Floor
- Electricity Utility
- Central Courtyard

Gallery





Kelcy White RE/MAX South - Marsascala

M: 79263954 E: kelcy@remax.com.mt T: 21555000

RE/MAX South - Marsascala 60,Triq is-Salini, Marsascala, Malta